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Answer the following questions by selecting the most fipropriate option,
. \O

O
1. Which type of changes occur in
growth and development ?

(@) Change in body size
(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisit@*; of new features
Choose the érrecf code :
Code : 8

D @), ®) & (0

2 @, ®) & @

3) (@.() & (@
-4 (@, ®) () & (@

2. Vygotsky's 'Zone of Proximal
- Development' refers to :
1) What tge child can do
indepengnﬂy :
2) What t% child can't do
independently
- 3) What the child can do with
guidance of knowledgeable
person -
4) What the child can't do even
under guidance of
knowledgeable person
PT-Q.
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3. If a learner does not achieved the \

expected performance, what type

of testing is done to find out the

Treason ?

1) Formative ,2) Diagnostic

3) Remedial 4) Summative

Which one of the following is not a

key feature of child ‘centred

learning approach ?

1) Meaningful
opportunities

»2) Single learning pathway

learning

3) Continuous assessment

4) Accessible learning settings

5. The three dimensional model of
the inclusive
propounded by whom ?

» 1) Griffith, Cooper and Ringlaben
2) Gartuer and Lipsky -
3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

6. Which of the following pair is not
correct regarding elements of
intelligence and their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension

Intelligence

1) Unit Product

, 2) Cognition Operation

3) Evaluation Operation

4) Relations Content
{7

education

1) TuEHE
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1. According

L
=
[5/¢)

to Bandura's Socia)
Learning theory, what is it calleq

when a person learns the same
behaviour by

observing and
repeating the behaviour of others ?
1) Adaptation

e ,
*2) (ngelf-observation
3) Modelin

) 5 g

4) Efficacy expectation

8. According' to Pavlov's Classical

Conditioning theory of learning,
which temporal sequence
Presentation of natura] and
corgitioned stimuli will most affect
lea?ming ?

o)

1) Fimultaneous
Q

2) Delay

3) Trace

4) Backward

. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

o ' '

1) céocially approved behaviour
1]

2) S}Iaying approved social roles
0s)

3) Li‘.’»evelo;::mem of social attitude

+4) Development of social

prejudices

dd P.T. O.
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10. "Socialization means attaining of

maturity in social relationships."
This definition of socialization is
given by whom ?
. 1) JohnDewey

2) Garret t'#%‘ .
3) Sorenson :
4) Hurlock

11. Which of the following statements
does not explain the positive
impact of motivation on learning ?

+1) Motivation - impairs learning
behaviour '

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning
behaviour

4) Motivation makes learning
behaviour selective

12. Which type of education would be

appropriate for socially deprived
children ?

‘1) Informal education
2) Special education
'3) Inclusive education

4) Religious education

15. T TAdW
- R

1) e f
9) ot o
3) A T
4) I
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13. Which of the following educationa]
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration

*3) Remedial teaching

4) Enrichment program

14. Which is not a role of educational

institutions  in addressing the

needs of children with special
need ?

‘1) Admission to’ school without

discrimination
2) Provide accessible
infrastructural facilities

+3) Identify their special needs
and exclude
mainstreaming

them from

4) Provide necessary support
services

15. Which of the following
. characteristic is nof seen in a
creative child ?

*1) Divergent'thinking _
2) Extreme curiosity %
3) High imaginations |
4) Conventional thoughts

P10
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16.

In which stage of Piaget's Cognitiye
Development theory. does
ability of abstract thinking g
generalization develop ?

1) Sensory motor

+2) Pre-operatioral

18.

3) Concrete-operational

4) Formal operational

Choose the correct sequence ol
the five stages of Freud's Psycho.
sexual development theory :

1) Oral stage —> Phallic stage -,

Latency stage — Anal stage —,
Cenital stage

2) Anal stage — Latency stage'-_>
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage -
Oral stage — Genital stage -
Phallic stage

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005

2) NCERT
3) UNESCO

+4) UNICEF
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19.

20.

21.
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A learning disability that affects the

acquisition of arithmetical skill is :

(1) Dyscalculig 2) Dysgra;pIua

3) Dyslexia g 4) Dysmagnisia
<t

Match the staq'"gs of morality with

their level, under the Moral

Development theory of Kohlber g:

Stages of Morality Level of
Morality
(@) Good interpersonal I
relations
(b) Individualism and II
exchange g
(¢) Social congcts and I
individual Fiyhts
(d) Universal $inciples
Choose the correct code :

. Code;

@ (b () (9
) I m n

2) M 1m m I
0 m 1 g
4 I I
) 1I M m

,Wh.ir_:h of the fé?owing statement is
not true regarding biological
motives ? ®

1) They are universal

2) Thgy_ﬁre inborn

3) They are essential to survival

y4) They are not related with
homeostatis in the individual

4 " P.T.O
e
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2. freifefeg & @ Pe-gr gEEeh R 22. Which one of the following is no,

N % Rrgia 7@ R 7 principle ofénclusive education 7

1) YT H gy ,1) Principlg‘:’f segregation

2) HET F Ry ’ 2) Principgof cooperation .

3) fafwer &1 sis7 79 &y faid ' 8) Principlef celebrating diversi

4) Rrem 3 FRER 7 Reeig 4) Principle of right to educatioy
23. =it & B Realw & o 23. Which sub-component is nof inclygeg

qeag g&E d P-w I9-9eF in componential intelligence unqe,

i 727 & ! the Sternberg Triarchic Theory ?

1) Al gk | ,1) Meta ccglponent

2) YANTd °9TH ‘ 2) Experiéntal component

3) MR g% 3) Perfom%gwe component

4) TN G (Gﬁh) q<h , 4) Knowledge acquisition componen;

24. friofead & @ P9-8 odad g 24. Which  of  the following
AR A el b e & ? examinations are the basis of
continuous and comprehensive

evaluation ?
(a) fofaa | (a) Written
(b) A (b) Oral
(c) AEEIRG . (c) Behavia%al
(d) Taif (d) Practicé
FeT BE W =TI BN : Choose the torrect code :
%< - | Code : '
1) (@), (b) W@ (@) el (), (®) & (d)
2) (a), (b) T (c) | % - 2) (a), (b) & (c)
3) (a),(c) W (@) ‘¢ 3) (a),(c) & (d)
4) (@, (), () W (@ | | 4) (@), (), (©) & (d)
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25. Which of the following statement jg

not correct in context of
development ?
1) Development is the product of
maturation and learning.
2) Later development is mere
critical than early development,
+8) Development proceeds from
head to foot.
4) Development proceeds from
central axis to extremities,

26. Which of the following statement is

21.

correct regarding adolescence,

under  Erikson's . Psycho-social

development theory ?

i) Ego-identity is a positive
Psycho-social aspect.

2) Ego-identity is a negative
Psycho-social aspect,

3) Ego-identity is ga neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following statement is
not correct in reference to
intelligence tests ?
1) Alexander's Pass along test is a
performance test.
2) Verbal test can be either
individual or group.
,3) lliterate People cannot do
Performance test.
4) In non-verbal tests intelligence
is measured through pictures
and figures.

% P.T.O.
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o

28. According tc,c:?andura, which is no¢
L

the interrelated processes of

observationai;rleaming ?

1) Attention(ai Processes

2) Retentional Processes
13) Motivational Processes

4) Conjunctional Processes

29. When the learner learns a task
automatically, without any desire
Or purpose, tggen it is called :
1) Massed lg%rnmg
2) Whole IQEEMng
3) Partlearning

»4) Incidental learning

30. Which of the following way does
not support the teaching according
to individual differences ?
1) Large group of students

2) Individualized instruction

3) Curricullgp adaptation

4) Knowledgé of student's abilities

[ Level-3/1313 ]
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pirection : Answer the following questions by selecting the most appro

L

46. Arrange the following jumbled

options in the correct order and
then choose the correct option :

(A) is heartening

(B) is going abroad

(C) the news ' K
(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B A

4) D,C,A,B

47. :Fill in the blank with the correct

'Modal Auxiliary':

............. you mind lending me
your pen ? (Request)

1) Should
2) Ought i Pt

3) Wouwd = @

4) Must

48. Which of the following sentences is
the correct option to express a
probable condition ? ’
1) If I were a bird, I would fly to
sl _
2) If you touch a live wire, you
- will get a shock.
3) If you will read this book, you
will learn grammar.
4) IfI had reached in time, I could
~ have saved her.

[Level-3/1313]

priate o tio
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49. Change th%harrati(m:

He said, "What a charming sight I

1) He exclaimed with joy that i

., Wasavery charming sight,

2) He exclaimed with joy tha
what a charming sight it is |

1 3) He told with joy that that is a

charming sight.

4) He sai@o me what a charming

sight it |
(o)}
50. Fill in the‘§lank with the correct
form of verb :
When I last ........ ...... her, she was
deeply involved in debt.
1) havemet 2) met |
- 3) has met 4) "did met

51. Fill in the blank with the correct
form of the verb :
i ........ a lot of calls today.
1) hadhave 2) hashad

«3) have hrac\i 4) had had

52. Choose th@\LD part of the sentence
that is grar%hatical}y incorrect :
The Jews wexe / most reluctant /

A : B .
to contribute / in the Palestinian
cause.
C D
B
1) A o 2)
3) C ﬁ A D
P.T.0.
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3. Choose the part of the sentence
that is grammatically incorrect :
He thought / he wall be able to do /

A = B

whatever he wa.n@i / with his job.
C O D

1) A .é')) B

3) C 4) D

54. Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college

than the bell rang.

1) The soonercdd reached the
college: the @aﬂier the bell
rings. <

O |
+2) 1 reached thq xollege and the

bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

55. The word 'slither' means :

57. Choose the correct passiye i a
given sentence : '
Please give me some mqrg il
1) Some more time Might pleas;
be given to me.

»2) Some more time may

Plea
be given to me. .

3) Some more time ‘coylq
be given to him,

4) Some more time shoy)g please
be given to him,

Please

58. Fill in the blank with the coppecs

option :

Note it down ........... you should
forget it.

1) that 2) because of
v3) till . 4) lest

59. Choose the correct option that
gives the meaning of the given
idiom :

Spill the beans
\1) increase work L
2) face agreatloss #

1) lick g venomous
3) hinder g slide 3) to leak a secret
< 4) segregate
56. Fill in the blankith the correct . _ j
- option: | 60.. Fill in the blank with the correc
How did the thief ...... the padlock. option : -
1) open The Pak army turned hostile .......-
2) opened ISIS. '
"~3) had opened 1) to 02) fo.r
4) had been opening 3) at ,4) with b

[Level-3/1313]
o
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1) 10 Rpfi/goer
2) 12 [ /goer
3) 13 & /gver
“4) 15 Rlt/goe
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2) 2%'Ee | —

3) 3§ { %

4) 3% g H
63, T ;E B Tew s A, B
15463 § Sfigd W A< AFTE 107 |

1) 52 2) 58

3) 71 4) 176
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61. A boat goes 20 km downstream iy,
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is -

1) 10km/h
2) 12 krn/&
/3) 13 km®
L
4) 15 km/®
<
O
62. Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1), 2 hours

' 2) 2% hours
3) 3hours .
4) ‘3‘/2 hours

(o)}
(&)

63. Find the 1§35t number which must
be addedgro 15463 so that the
resu.lting Chumber is exactly

divisible by 107 :
1) 52 ~ 2) 55
A 1 4) 176
2 P.T.0.
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66.

B pallh bt a™
a +a — is equal to
I-a - 1+~/_
1 —
a-1
a-1
2 e
v2) z
2
3
) a-1
2
4 M=
) l-a
If A, B and C enter into a
partnership with shares In the ratio
3 _4. E After 4 months, A
2'3'58 g
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profit is :
1) Rs. 2,400
2) Rs. 3,600
v3) Rs. 4,000
4) Rs. 4,200
A man sold an article at a loss of

" 20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22

2) Rs.-30
3) Rs.36 o
*4) Rs. 40



g1. T H g8 & R orue & P
oH W 5 o P @ B g )
a9 W 20% H 9 & ?

1) 1:5
3) 3:5

2) 2:5
4) 4:5

68. T MiEd W & 4% affs W W
2 T % fw wfE oW @ W
o F FIIC © :

1) 52:51
3) 51:50

2) 52:50
4) 53:50

69. x-OT8, y-9§ T 4x+3y=12 &N
i B & awET @ B @

1) 2 @8
3) 3 %

2) 2.5 T3
4) 4 T

70. & fafE g9 § ofwie T @
T HT B AP 7:2 &, A
TG A S A HEA §

1) 17 2) 8

3) 9 4 11 %

71, 3ot & R G ®
71A, X2D, V6G, T21], ?
1) R8IM 2) R8IN

3) R88P 4) R88M

[Level-3/1313]

[19101

67. What proportion of water must he
added to milk to gain 20

. . hy
selling it at t@ cost price ?
b1 1:8 o 2) 2:5
<!
3).3:8 W 4) 4:5
O

68. The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2

yearsis:
1) 52:51 2) 52:50
3) 51:50 /4) 53:50

)]
o

69. The radius {{ the circumcircle of
the triangle %ade by x-axis, y-axis
and 4x+3y®12 is:

v2) 2.5 unit

4) 4 unit

1) 2 unit
3) 3 unit

10. The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygon is :

) O 4 2) 8
(0))

3) 9 o 4) 11
Tp)
o))

11. Thenextofbﬁ; series is :
: O

Z1A, X2D, V6G, T21], ?

‘1) R8TM 2) R8IN

3) R88P 4) R88M

P.T.O.
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2. 3R 17 Rew, 2002 F AEER
T 22 RgwWr, 2004 FH HA-G1 A
o ? -

1) dEr

2) sfErR

3) WHaR

4) HEER o))

(@)

3. ﬂﬁﬁﬂﬂﬁﬁﬁﬁ?ﬂjﬂ#ﬁmaﬂs:sa.
62 « 91 = 7 TUKY4 81 = 29 &, o
aﬁﬁzﬁﬁn*tssaarrrﬁ%_:

1) 40 2) 41
3) 38 4) 53
74. IR oomen & & © AP F
FAE S B A OIS T o Ay
e w d BW e omh 3§
fFrfoiea -4 59 Frm
H U HE 8
1) DjOTV
2) DJOSV
3) DJOSW
49 DIOSU
O
75. Frefifed demoleEm # oFmr wT
AT E
2,8, 10, 15,25, 7
1) 33 2) 34
3) 35 4) 36

[ Level-3/1313] E:E'H

72. If it was Saturday on 17ty
December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday

2) Saturday
_3) Monday

4) Tuesday

13. In a certain pattern, if 38 x 15 = 32, '|
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of

47 % 33 is ;
1) 40 .2) 41
3) 38 4). 53

I4. In English alphabet, the number of
letters skipped in between
adjacent letters in the series is
~decreased by one. Which of the
following series observes the rule ?

1) DJOTV

2) DJOSV .

3) DJOSW ]
~4) DIOSU

I5. Find the next term of the following
number series :

2,3, 10, 18, 26, ?
v 1) 83 2) 34
3) 35 4) 36




g L

g
&H
L1

76. @ FReA g w1 & 'CEQ' F TSR
TN FH]' # 'QPO' fen =i &, &
W OTE qW ¥ KM @ R
SR

1) NoOP
2) NOL
3) NMK
N
4) NML =)
- 1D
()

7. A A A ROD T8 | I R
# AR o He w@ @ L oA
aaﬁiaﬁsmq?rﬁm%

1) FR-F
2) iREm

3 ™
4 FE-aRem D

(5]

-
i

18. T 1 ¥ 35 f 3, A & oM
YRGB H ET SR Y
9d WM W ? a1 C & ©M & aml
FIAF A, NCHARTAY
PIA-TT & ?

1) odf 2) 10df
. o) o
3) 11a D 4) l2dr
. L) )
N ;

9. R EAML ¥ 5w F = T
mgmE?

1y 1 2) 2
3) 3 4 4

[ Level-3/1313] %ETE
et

[21 I‘c]

76. Ina certain code language 'CEG' i5
written as 'TSR' and 'FHJ ig Written
as 'QPO', then in the same coge
language 'IKM' is written as:

1) NOP
2) NOL

.-

4) NML

11. If A stands on his head with his
face towards North, in which
direction will his left hand point ?

1) North-East
1 2) West
3) East
4) North-West

7

78. In a class of 35 students, A is
placed 7th from the bottom
whereas B is placed 9th from the
top and C is placed exactly
between these two. What is A's

position from C?
1) Sth —2) 10th

3) 1lth 4) 12th

19. How many meaningful words can
be formed with the letter EAML ?

1) 1 2) 2
€3) 3 4 4

P, T.O.



S Ty ¥ e 3
O e 74 A A
W b g @ R o e
SR A @ T & 7
1) 0 2) 3
3) 4 4) 8

81. ey a1 F SRR AT T

82. Ui Ta G o ©

83. frg e I o, 2023 ¥ WRE
T W e B 7

1) ®y g

2) e ReE
3) o[ faue

4) Wit

[ Level-3/1313]

4
30

80. In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read noge of these two. How
many of th%. read Hindi and

English both%

O
1) 0 O 2) 8
+3) 4 4) B

81. Who is the Chief Commissioner of
Haryana  Right to
Commission ?

1) ShriT.C. Gupta

2) Shri Vijaydardhan

3) Shri Rajea%l(hu]lar

4) Shri Vikas%upta
O

Service

82. Historical village Sugh is located

in:

1) Ambala district

.2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

83. Which Haryapgi conquered Mount
Elbrus in Aug%t, 2023 ?

1) Sandeep @shnoi
.2) Rohtash B&noi
- 8) Ajay Khichad
4) Mohit

‘I
s



AT ™Y weEd P ouw e
ﬁﬂﬂ_@éﬁioaﬁrwwg?

1) SHad, 1967 ~
2) IR, 19668
3) W, 1980 2

4) SHaE, 19968

qy Feamew & s § Rk

FE Bl

6)) ‘a‘@’:@%fﬁrﬁq&l

(i) SR TF FEe ‘fER |
T &, S daE B w9 A B

(@)
e} T B T PR
1) S B (A B
2) %aam(ink%a%l
3y A HU () AR T E BT (i)
e ¥ |
4) 2 T (@) AR @) TE

g6. eREEm ¥ WRAE gE e

Hear Fel R &
Lo

. (@)
1) g o
2) grEd O
3) T
4) FHoa .

[Level-3/1313]

[23/€C]

84. When the Haryana State Co-
operative Agriculture and Rural
Development Board Ltd. was
established ?

1) January, 1967

2) November, 1966
.3) March, 1980

4) January, 1996

~

85. Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book "Vichar .
Sagar' which is in form of
dialogue.

Choose the correct code :

1) Only statement (i) is correct.

~2) Only statement (ii) is correct.

3) Neitﬁer statement (i) nor

statement (ii) are correct.

'4) Both the statements (i) and (ii)
are correct.

86. Where in Haryana, the Indian
Institute of Information Technology

"is located ?

1) Sonipat
2) Panipat ' 17
»3) Ambala
4) Kurukshetra
ik § P, O
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87. Rarm & Riww W Pr FE Rud 87. In Haryana, where the Chinky,,
87 o _ Breeding Centre is located ? '
) ek 1) Pinjore
2) i & \2) Panipat
3) TG 3) Jhajjar .
4) Bamt _ 4) Bhiwani _
88. sRamm & Frfafed TsoaEr & @ 88. Who among the following Governcy,
' IO R waAREH § 7 - of Haryana was an ICS officer ?
1) = g9 1) Shri Dharma Vir
2) i W CEl 2) ShriMuzaffar Hussain Burney
3) R ofRs W ' 3) Shri Hari Anand Barari
4) A oo Qe deamrr . 4) Shri Surjit Singh Sandhawalis -
i |
- 89. Mar A w%z P @& & 1 | 89, Geeta Jayanti  Samaroh i
ST 8 7 ' celebrated in the month of :
1) wHifis § | 1) Kartik
2) Hrfsf & =™ | \2) Margshirsh
3) onf¥es ¥ 3) Ashvin
4) Eo & - 4) Shravana

90. The evidence of Stupa of I;ZIauryan
period is found at :

90. AdHT T F W o g ¥ -

1) awd g 1) Topara

2) e ﬁ§ 2) Bhiwani %
3) gREX ¥ \5 3) Thanesar ;
4) Jgsas A

\4) Rohtak

[ Level-3/1313]
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71~ IV/ PART -1V |
e faTe / PHYSICAL EDUCATION |
o + P st & ot 3% % Ry ek o e g o

o
Di,ection : Answer the following questions by selecting the most appgopriate option.
/—_ (@) —

<
O

g1, FCRET FoRt B SFas el T 91. Read the statStnents carefully and

wel fomeT # g

9 (1) TH A IR
Reee W & 0 I
fer@

o ¢ (i) o fofew e
dfierEs § g &l

7 @RFR ¥ @ ol
R 3% & W A S
S 2

&

9) aw T (i) M (i) T &I -

1) g FU T8 &

3) qw T () A (iii) T &l

4) aw T () T B

[Level-3/1313]

choose the correct option :

Statement : (i) Ivan Pavlov wrote
a book named
conditioned

g reflexes.

o)
Statement : (@ The participant

8 Little Albert' is-
connected with

Thorndike.

Statement : (iii) Skinner desigxied

a sound proof
apparatus, known
aﬁ Skinner Tank.

1) All the statemen_ts are correct.

2) Only state?_)nents (i) and (ii) are
correct. 2:

3) Only statgnents (1) and (iii)
are correct.

4) Only statement (i) is correct.

¢ P:T. 0.
o
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92. Prafefea @ gifvm @ifm :

93.

M st IgE () wie o

o W 9
= s
(M wrer Agw OYii) R B
WO SRR 3
| S
(M) F57-Sart gk i) T e o
T 9T S
Frofar s=m
VTR AT - (iv) Hre, T,
o T SR ot
S F dRed A
O UBE
<t
WO
el e gfg O

1) IHii, M-iv, II-ij, TV
2) i, I, Hl-iv, TV-ii
8) i, I-iv, II-i, IV-ii
4) 4, -, W-iii, IV-iv

W%Wﬁaﬁeﬂ'(ﬁaﬁ'{ﬂ%@ﬁ?
@Wmmgﬁwﬁq—m
WWW@H%%?

1) Wa&%mﬁwﬂzﬁ
2) qeRm (799) FRTE siReres
3) ﬁﬁqﬁ(qw)ﬁﬁamww-

9 IR (Med) Pvee s E

[Level-3/1313] o

a

92.

93.

Match the following :

(I) Democratic (i) Focyg &
REsng future & lop
. term goalg '
(II) Transformational (i) Giv, -
leadership ‘ Quthoryy, 3
emmo?ees_
(III) Laissez faire (iii) L.Qader
leadership Makes
deCiSions
baseq op
€ach
- Member'g
Inpyt,
(IV) Visionary (v) Initiating
leadership change in
- Prganisations,
' groups, one
self & others,

Choose the correct Option :
\ 1) i, H-iv, -4, IV-i

2) IHii, Il I-iv, IV-ii

3) i, Il-iv, II-i, IV-iii

4) I, I, M-, TV-jv

Which ligament of knee is affected
When a direct blow strike from the
lateral side of knee in a medial
‘direction ?
| 1) Anterior ¢ruciate ligament
2) Posterior cruciate ligament
*3) Medial collateral ligament

4) Lateral collateral ligament



4. ﬁqﬁ'{f@ﬂmﬂ EIH‘EE‘-‘EB qﬁi’(qa
; Hﬁﬁﬂﬂﬂgﬁq:

T (1) T oS e T
e e B G B

w0 (i) Pt w3 S
TWHOT P HERiT HT B

W ({EN IR W e
aaﬁw% Tiegd o
|

) & T
2) Fa@ TN (1) T8 B
8) Faw F (i) IR (ii) T E
4) I T (i) AR (i) T ¥

95. i @i Gicw I -
OEESEGERRTLR (i) 1934
(I ¥ BT TO9O (i) 1945
(IIT) STer SRebedia TOee (i) 1949
(IV) SiTehaTe - B

Sefires qdeer
et fasea e
1) I, TI-id, [-idi, IV-iv .
2) i, v, I, IV-iii A
. 3) L, I, v, IV-id
4) T-iv, T-iid, I3, TV-i

[Level-3/1313]

(iv) 1951

ok [27/C)

94. Read the statements carefully and

95.

choose the correct option :
Statement: (i) QRight  primary
onchus is more

@ider than the
U ft,
Statement : (i) tﬁneumonia refers
to an acute
infection of the
bronchi.

Statement : (iii) Voice production
is a function of
the  ventricular

dolds.

1) Al three %tatements are
correct. o))

L
2) Only statemest (1) is correct.
3) Only statements (i) and (ii) are

correct.

4) Only statements (i) and (iii)
are correct.

Match the following :

() Brady Volleyballtest (i) 1934

(II) McDonald Soccer test (ii) 1945
(III) Johnson Basketball test (iii) 1949
(0))

(IV) Lockhart-McRBerson  (iv) 1951
Badminton tegh

Choose the corr%t option :

1) I, I-id, M-idv-iv

2) i, H-iv, I+, IV-iii

«3) Hiii, II4, l-iv, IV-ii

4)  liv, T-ii, -3, IV-i,

P.T.G
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96.

91.

98.

99.

Bt § e o A B ot
M 2 ? |

1) 9§
2) YTRM
3) fam

]

u
A % P 3% e R R
i e @ B e ?

1) 50-80%
2) 120% 3T 3O o
3) 40-50%
4) 70-80%

(o)

2
R B o 9 W
T ©

&)

1) Tosie dwE o
2) STEHERAeH fafy
3) "3 S

4) T IR

()
et ¥ R R v @
N ST AT L7
T ‘8
2) 1:1
3) 2:1
4) 3:1

[Level-3/1313] ‘g‘;ﬁi

96. Which of the following comes under
Antaranga Yoga ?

A 1) Dhyana
2) Pranayama
3) Niyama

4) Asana

'97. What should be the intensity of slow
~eccentric method for strength
improvement ?
1) 50-80%
2) 120% or more
<3) 40-50%
4) 70-80%

98. Reactive method is also called :

1) Dynamic concentric method
v 2) Isokinetic method
3) Depth jumping

4) Circuit training

99. What is the ratio of calcium an
phosphorus in the bones ?

4 1z2
& 121
Q3 2:1
~4) 3:1

$o7



9 2
"5

A

J

1
[ F () T AW A T 9y
-i AFW W o F R
F T @ # A A

%l

(o)}
7
(1) MR ae w

TR Rgrgaw wg &
H H A B R

1) a9 B (1) T B

2) A PN T E

3) I T TE T &

4) Faw F (i) TR
9]

o))
101 A B P T

1) IR Y - P O
2) N WM e FY - Sehred

(o))
102, ﬁmwmﬂaﬁ%

[29/C)

100. Read the statements carefully and
choose the correct option :

Statement : (i) Acceleration speed
s the ability to
speed for
maximum duration
possible.

Statement : (ii) Movement speed is

» the ability to do a
single movement in
minimum of time,

1) Only statement (i) is correct.

[2) Both statements are correct.

3) Both statements are incorrect.

4) Only statement (ii) is correct.

101. Choose the correct pair :
1) Uber cup - Tennis
2) Sultan Azlan Shah Cup -
Badminton
+3) Subroto Cup - Football
4) Syed Mushtaq Ali Trophy -
Hockey

102. Which type of Dhauti is used in
order to empty out indigested or
toxic food matter before it passes
into the lower digestive tract ?

1) Vyaghra Kriya
+2) Kunjal Kriya g
3) Danta Dhauti E
4) Danda Dhauti
P.T.O.



104. FH AN B TR B HegEE

105. o9 OF FU Bl GRY H TH AN
d‘laq;;a’r ¥ gE PN-a SR
B B ?
1) omar AT ;
2) foafed s 17
3) 3G SR :
4) TeeHT STRIHT

106. fififed Fol A FEEFIES 1Ry

T 9 faereq @ gy ¢ PN
T : (1) TP T MR
@ a9 & RwRe

Yl B

T ¢ (1) IeW,  Wed O
ol a9 FNE o
Fead &

B : (i) I9Eed a9 IR F
& TE I R S
Gﬁiﬁiﬁ#mm{ﬁﬂﬂr%l

1) ¥ FE (i) T

2) ¥ T (i) AR (i) g ¥
8) I F (i) R (i) T ¥

4) T TN 78 ¥
[ Level-3/1313]

103. Which of the following is the

scientific name of Vitamin K ?

1) Tocophgyol '
2) Pmﬁoﬂfgﬂcﬂsui
3) Pyridoxine
+4) Phytonagione
@)
104. The smallest contractile unit of

skeletal muscle is :
1) Muscle fiber 2) v Fascicle
 3) Endomysium 4) Perimysium

105. When a tendon pulls part of a
bone off, which fracture it is ?

1) Impact g@cture

«2) Commiated fracture
3) Depresgd fracture
4) Avulsiofffracture

106. Read the s{‘a?tements carefully and
choose the correct option :
Statement : (i) Transverse plane

divide the body
into superior and
inferior portion.
Statement : (ii) Sagittal, frontal
and horizontal

plane are called

cardinal planes.

Statement : (iii) Mid sagittal plane |

S divide the body

O left halves.
v 1) Only stafement (i) is correct.
2) Only st&t)ements (1) and (ii) are
correct.
3) Only statements (1) and (iii)
are correct.

4) All the statements are correct.
o

"%

Wy into equal right &



| S

1. %’Wﬁﬂwwméﬁrmw

1) e
2) W amw
3) TE
4) ﬁmwmga

108. o ey

() e g E{Rﬁmﬁﬁﬁrﬁ
Wﬁﬁ%ﬂ%l

T ¢ () e e
| uwﬁﬂﬁaar%l

W:(iii)sgr%mw%m
|

1) I FH (1) T B
2) I T (l)gi(u) T

3) DA FIT (1)@{'(111) el %I
4) El}ﬁr I (ii) @T (iii) T &

109. ﬁﬂﬁf@amﬁrﬁmmm
el foebe @ g

T : (i TSN 06 gaR
¥ ﬁwm%l q;:

O ¢ (i) TR T & g

. IS B .

_W:(ﬁi)ﬂ%ﬁﬁ@%@mm

2

e
1) @ F 6 ¥ @) w@
. ‘_;D
2) Sad w9 (i) 9 qil) T8 ¥

3) ﬂ‘tﬂwﬁﬁ%l
4) a9 F (ii) T B

[Level- ﬂﬁ
vel-3/1313 ] 5
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107. Schey :
. €Imann disease is a)gq known
1) Juvenile Kyphosis :
2) Sway Back e
3) Scoliosisg E

+4) Fallen Arches

108. Read the statements carefully ang
choose the correct option -

Statement t (1) Pingala force
flows in the Right
Nostril,

Statement : (ii) Pingala is related
with
Parasymphathetic
System.

Statement : (iii) Ida's ruling planet

| is the moon.

1) Only statement (1) is correct.

2) Only statements (1) and (ii) are
correct.

3) Only, statements (i) and (iii)

are correct,

' /l) Only, statements (i) and (iii)
are correct.

109. Read the statements carefully and

choose the correct options :
Statement : (i) Triceps extension
isalll Class Lever.
Statement : (ii) Biceps curl is a IlI
- Class Lever.
Statement : (iii) Standing on the

toes is a I Class
Lever.

1) Only statements (i) and (ii) are
correct.
2) Only statements (ii) and (iii)
i are correct, _
«3) All the statements are correct.
4) Only statement (ii) is correct.

P18

'



111.

112.

F (1) e R @ IwEm
I e & faw &
R fFam ST 1

FUT ¢ (i) §d W TR-9X JRE™
P faERT FE B T
Ry &

1) %59 F9 (i) T8 B

2) I FUAT T B |

3) & T (i) T Y @
4) ﬁwaﬁraﬁ%u
W.@.Was-wﬁﬁfﬁﬁarﬂ'(%
febel T Y o A SIX A ¥

1) RETH  2) SemE
3) TSHM 4) eI

[ Level-3 /1313]

110. A

111.

0

technique ~ which basically

involves ‘Bhcouraging students to
prepare fanthe lesson before taking

the classi%

1) .Gamiﬁgation

2) Self learning

“8) Discussion method.

4) Flipped classroom

a

Read the statements carefully and
choose the correct option :

Statemensy (i) Repetition
8 method is used
(o)) for the
g improvement of
® speed endurance.
Statement : (ii) Reacting
repeatedly on a
signal iIs a
method for

development of
complex reaction
. ability.
1) Only statement (i) is correct.
v2) Both the are
correct.
3) Only gfatement (ii) is correct.
4) Both gme statements are

incorx®ct.
<t
O

statements

112. A movem&ft ata joint that brings a

body part anteﬁorly is:

+1) Elevation 2) Protraction

3) Abduction 4) Pronation

4
hl



114.

115.

T (i)

4) I T (i) T D

) ¥ FE () TR
2) Faq FA (ii) TR
3) IF T T &
4) 3 F T &

[Level3 /1313 ﬁ
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113.

114.

115.

[33/ C)
Read the statements carefully &
choose the correct option :
Statement : (i) Injection of
erythropoitin is a type
of blood doping.
Statement : (i)Erythropoitin  is 5
hormone produced
by the liver.

1 1) Both the statements are correct.

2) Both the
incorrect.

statements  are

3) Only statement (i) is correct,
4) Only statement (i) is correct,

Who act as a spokesman of the
Intramural Committee ?

1) Chairman
2) Treasurer

B

) Secretary

4) Assistant Secretary

Read the statements carefully and
choose the correct option :
Statement : (i) To disturb stable
equilibrium of an
object, it would
requires to drop
C.G. to a lower
point. .
Statement : (i) When  object’s
C.G. is neither
raised nor
lowered, it is
. called neutral
equilibrium.

1) Only statement (i) is correct.

-2) Only statement (ii) is correct.

3) Both the statements are correct.

4) Both the statements are
incorrect.

P.T.O.



[34!01

116, ;rmaﬁrjamneﬂ-—reqawaﬁﬂam%l
TOH aaer B ®
1) S TER & FobH

2) I % HEAX H G

3) Wﬁ}:ﬁ%ﬁﬁm

4) 99 I qgg Tararer

117. Frefafea # gafea S

(D) ool oot & (@) Sie ®Fd
e g

(In gafgAfr e (i) &t g@

() gaert Riare (i) roflogago

_ _ iy
(mﬁjﬁaﬂw Rrera (iv) g8 Q=

| 787 faweg gfg
1) v, I, I, IV-iii
2) Lv, I-f, 14, [V-iii "?
3) I-iv, -, 1Ml IV-i
" 4) v, I, Ml-idi, TV-i

[ Level-3 /1313]
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116. The e_xpa%ion of Prana takes place

1117.

in three silr-;jes. The first stageis:
< -

1) ~Reve;§Cﬁl of the apana flow

. 2) Reversal of the flow of prana

3) Expansion of the pranjc
eriergy of samana

4) Lateral movement of force

o
c

Match thegollowing :
<r
‘M Surpl% energy (i) G. Stanley
" theory Hall
(II) Anticipatory (i) Karl Groos

theory

(III) Recapitulation  (iii) G.P.W.

theory " Patrick
(IV) Relaxation (iv) Herbert
theory Spencer
o

A e
Choose tlg correct option :.
<r
1) I-iv, IRG, IM1-ii, IV-iii
C
12) L, II-ii, 111, IV-iii
3) I-iv, II-iii, ITI-id, TV-i

4) I-iv, -, II-idi, TV-i
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119,

l'-evel—311313]

H@Wﬁgﬁt{:

() TN oiehes & g
REest T et ey
g O

o
Ep]

T : (1) Tl 3 A
TR 2 o, o
BRI - T
TE T8 e e

T ()IEN S 3 ke

T A B P w@
B
0

1) %W(%ﬂum)aa%q
2) WW(ii))eﬁT(ﬁi)aﬂl
3) %aam(ijeﬂt(ﬁ)aaﬁn
4) T AN P Ed

(o)}
o

Tg}
Pe-a Rrg opaeE R 3
s i
1) IRE
G e
3) 9+ R4
4) RFmvE HEs

‘ "
e

/9

4) All' three

[3SIC]

118. Read the statements carefully ang

choose the correct option :
Statement : (i) All athleteg
competed nakeq
in ancient
Olympic.
There, are no
points, no time
limits and no
weight
classifications in
the boxing
during  ancient
Olympic.
Statement : (iii) There were no
rules in
pankration
during  ancient
Olympic.
1) Only statements (i) and (iii)
are correct.
2) Only statements (i) and (1)
are correct.
Only statements (i) and (ii)- are
correct.

Statement : (ii)

statements are

correct.

119. Which educationist is associated

with cathartic theory ?
) | Aristotle

2) McDougall

3) John Dewey

4) Sigmund Freud

P.T: 0,
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120, B &% § 9 gedia ¥ ao who To
e i arh g AR AW R 7

1) & S
2) HeeT witEr
3) ABT Sr

4) 9o Ho HTT Gl T

121, I gRifar & TR geR @ Ry
I 3 3t 3 g0 64 90 =Y &
ﬁ:ﬂ@?rr: '

1) 2n-—1
2) 2n-2
3) 2n-3
4) 2n-4

122. HE-8 B &1 Swdm oReam dq
?

3) aGER
4) Iy

123. FF-@ 999 9@ HwE B

Qq;_
ﬁﬁaa%a%waﬁweﬂ?wg

7 iR @t Rafy ok RRR
Freffe od aRaffa s & 2

1) YRR GRgar -
2) I Ag o
3) fgiRor e !
4) R AT

[ Level-3/1313]

120. Which gne of the following is firgy
Indian 8am to lift IFA shield i,
footbalk? )

1) EasgBengal

2) Mofdmmedan Sporting
+3) Mohan Bagan

4) R. B, Ferguson Football Club

121. What will be the formula for total
number of matches' in method II of
second type of consolation
tournament ?

*1) Zn%
2) 2nod

3) 2n%
4) 2nSA

122. Which Kriyais used asa Preparatory
Kriya for Uddiyana Bandha ?
1) Agnisara
2) Varisara
3) Vatsara
\4) Neti

123. Which O coordinative ability
determgp and change the position
and md@ement of the body in time
and spa&ge in relation to a definite
field of &?:tion g

‘1) Differentiation ability
2) Coupling ability
3) Orientation ability
4) Adaptation ability
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124. Wﬁ@ﬁﬁmﬁﬁwﬁd

(o))
124. Wavelengﬂ%f Infrared radiatiop :
1) 1400 nm - 1 mm

1) 1400 n@e- 1 mm

. ko )
2) 3000m-lm 12) 3000 nfal- 1 mm

3) 760nm-1mm 3) 760nm-1mm

4) 900 nm -1 mm ¥ 4) 900nm-1mm

125. M9 WX ¥ o wam § 3 125, thmegavelengmofmumom

WWWWE{?{W ~ therapy at%MHzinanave:age
AR E ? ﬁssueofHu@.nBody?
Xo)
1) 2fnh \ /1) 2mm ©
2) 1.5 0 2) 1.5mm
3) 1fh E 3) lmm
4) 0.5 fredy ' 4) 0.5mm

126. FEIGEA ¥ W T A W wm 126. Blood Doping with erythropoitin

et & wesfr @ e ok amr improves ag\ athlete's performance

GURT e @ ? byw}ﬁchp%bess? |

1) T 3 N B T I | 1) Makingyblood circulate much
faster. L(S _

2) T A @@ T HOMEHET %l t 2) Increasing the number of RBC

gem ¥ gfe w1 in the blood.
3)' T P RN FDI : 3) Thickening the blood.
4) TR P ST HO 4) Cooling the blood. -

[Level-3/1313] P.T.O.
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127. 7z e Rrer B “Aifese A @@
Ted AT e @Y R SEe ere
W@m,ﬁwaﬂ%m%ﬁm@%

aﬂraqaagqaam%wa%
AT gAY 7
<
1) faferm S
2) faww gge
3) Rrmve wge
4) #Ro THo Toaf
(@) 4
128. fFrfufes @t @ eMEs geaw
;I Wﬁﬂﬂﬁ?ﬁ-

T : (i) %mamamw
A 8T 2

TG ¢ (i) Rod R W ‘o
2@" Fofgs & =g &
gn\“fﬂﬂm%a

1) %aﬁ%(i)aa%;
2) FaT T (i) g Y
3) I T T ¥

4) W P T ¥

[ Level-3/1313]

1217.

128.

Who wrote it that "First PsYchOl()gy
IOSt its SOUL than it lost its mlnd, [han
it lost its consciousness, it sti]] hag

behaviour of a kind." ?

\l) William James
2) Wilhelm Wundt
3) Sigmund Freud '# t i
4) R.S. Woodworth

Read the statements carefully &

choose the correct option :

Statement: (i) In soccer the
referee is also the

time keeper.

Statement : (i) Reserve assistant
referee act as 'on
field’ official.

1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Both the statements are correct,

* 4) Both the statements are

incorrect,



129 T 2022 X o6f yrem @ g

130.

131.

LI CURE - o S
FwfeT ¥ 7

) Yefery
2) Feg
3) N ey
'4) S

B iica il ?t BT FE -
T e WeROT e & 7

1) ROM
2) T
3) RAM
4) CD-ROM

TR # A e e
S SR T ST e & 7
1) WA

2) Yt A v

3) | HesE @

4) SR AR

[Level-3/1313]

o3 [39/¢,

o)

. o :
129. Bhakti Pbg:deep Kulkarni  whq

_conferred gth Arjun Award in the
year 2022,%8om which game she is

associated ?
1) Athletics
2) Kabaddi

3) Lawn Bpwls
o
4) Chessi

=
O

130. Which ofthe following is the

volatile primary storage device of

a computer ?
1) ROM
2) Hard disc
\3) RAM
4) CD-ROM

131. Which Brageh of Psychology study

.
about extrgensory perception and
psychokingis ?

O
Y1) Parapsychology

* 2) Clinical Psychology

3) Social Psychology

4) Applied Psychology

P.T.O.
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132.

133.

134.

st & & - aget o & 7

) TR

2) FNRgfETE)

3) frear

4) RS TR

fovg w@Rer §ed & AR 2020 H

5% § F9 oY B e = Tt
IO g A1 A & 7

1) 29 Pifeas
2) 39|ﬁ’rf%m
3) 49fi‘lﬁ‘ﬂ'—r§
4) ssﬁrﬁﬂﬁg
O
iz SICE] zﬁEHr_ H ANGED TEHT
Hﬁﬁ'ﬁqiﬁiﬁ: '
F : (i) TGS ST -

For # gfs z ARG
fopar e B

F ¢ (i) TG T {0
Eﬁrf@qfﬂ%

F : (1) AR A

1) & & F Ed ¥

2) Fa F (i) AR i) T 2

3) Faw FUA (ii) I (idi) TE B
4) A9 F () A Gii) T

[ Level-3/1313],
'

132. Which one of the following
‘aerobic bacteria ?.
1) Fusobacterium
2) Clostridium
3) Prevotella
4) Bordetella pertusis

133. As per World Health Orga_nisaﬁOn
how many children under the age of
5 were overweight or obese in 20207
1) 29 Million
v2) 39 Million
3) - 49 Million ',Q“
4) 59 Million

' 134. Read the statements carefully and

choose the correct option :

Statement : (i) Lordotic Posture is
characterised by
increase in the

Lumbosacral
. angle.
Statement : (ii)Scoliosis is a
Sagittal plan
deformity. '

Statement : (iii) Lateral curvature
in the spine is
called Scoliosis.

«~ 1) All the three statements are
correct.

2) Only statements (i) and (i)

are correct.

3) Only statements (ii) and (i)

are correct.

4) Only statements (i) and (ii) ar€

correct.
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135, FA-T T qeT R Hicrater @ ¥ 135. Which substances comes under 83
s3 3N % IFrld o ¥ 7 | category in prohibited list of Wada
1) TR T 1) Anabolic Agents
2) TeRs 3 2) Peptide Hormones
3) E@ﬁm - »3) Dieuregcs
4) -2 Wive 4) B'eta-Z%gonist
&)
136. [IRTEG  GARRE v - 136. Match the following :
O TMRM @) T () Forward (i) Flexion
ol bending
D) T AN (i) TerRE - () Sideward (ii) Elevation
T ‘ bending
(M §e & &8 8 (i) SRR (i Closinésthe . (iii) Opposition
mouthg |
(IV) S8 & 379 (iv) UId e (IV) Thumb meets  (iv) Lateral
I B O the padof other  flexion
P finger
et faed g | Choose the correct option :
1) I, v, 04, V-l % 1) I, v, T, IV-iii
2) I-ii, II-i, IMl-iii, V-iv ' 2) L, 11-%11-111, IV-iv
3) I-iv, I, I, IV-ii 3) v, II%i, -, IV-ii
4) i, I-iv, M-, IV-id 4) 1, H-iv, -, IV-ii
[Level-3/1313] d P.T.0.
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132, Prfifes ot B STEEEiE 1@
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138.

T : () GO UTedte @d S
Rirecs@E & TE §

AL A ST &
<«
O
T : (i) WIE B dad  GERN
TERE e & g
el .

W:(ﬁj)wﬁg%r s REw
@ R AR @
TR T

1) Y (i) A (i) T
2) FU (i) AR (i) T F
3) daw HUA (iii) T B
4) Fa FUT (i) G B

Ypeee O B9 GO &
ffife Rear mar ?

1) 1992 -
o
2) 1949 o
@;
3) 1951 O
4) 1969

[Level-3/1313] ...

wd

131.

138.

Read the statements carefully ang
choose the correct option :

Statement : (i) Each of the
panhellenic games
were celebrated in
honour of a specific
God.

Statement : (ii) Poseidon, the God
of the
associated

pythian games.

sea was
with

Statement : (iii) Zeus, the king of

the Gods was
associated with
olympia & ishtmus
of corinth. ‘

~1) Statements (i) & (iii) are correct.
2) Statements (ii) & (iii) are correct.

3) Only statement (iii) is correct.

4) Only statement (i) is correct.

When was McDonald soccer skill

test constructed ?

1) 1992

2) -1949 .
| A

~3) 1951 ;
4) 1969
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1) feis
2) TR
3) Uiics
4) TEWREF
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140. P AR T Reer ofvm @
T4 e N Feam L 2

1) afi’@‘masr%@w
?) ST S
3) = R O

4) HOH AR R

Ml FEEE § B e @ 9w R
W& ?

1) Ry

2) HEEX

3) AR

4) ST

192, Hmer I W o €
S

1) T &
2) QRFFRE O
3) erforgfet

4) e # feere
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139. Which body type is more prone to
Schizophrenia ?

\1) Pyknic
2) Asthetic
3) Athletic

4) Dyplastic

140. Which theory of leamning is also
called Bond theory of learning ?
1) Trial and error theory
*2) Conditioned response theory
3) Insight theory

4) Operant conditioning theory

141. Which chakra is to awaken
. through Kapalbhati ?
1) Vishuddha
2) Sahasrara
\3) Maxiipura : "?‘
Q4) Ajna

142. Transition periods aims at :
1) Recreation
2) 'Supercompensation
13) Recovery

4) Stabilization of performance

P.T.O.
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143, - oy Pofgs @ F TH A
S S ® 7
1) g §H
2) P AW
3) wfedge G
4) b @y

144. g SR & N9 Fa9 YA ST
i T e T § 7

1) Rsdyores Y
2)  SrgHiee M

3) STTHART Mg
4) YaRE MY

145, FgACT ST @ omaf F Al ® 7

1) 27.42 FTEC
2) 27.32 AMECS s
3) 27.22 AE o
4) 27.12 ¥MEES

146. RN TEEY A 2022 F TH UKW

g & [ g, TGN
HH-91 THT TR & 7

1) Romerd (Fafa)

2) ArvmEd (e v

3) eEs TR (S W)
9) T FE

[ Level-3/1313]

;1:1

143. Which joint is also known as
trochoid joint 7
1) Pivot joint
2) Hinge joint
'\3) Condyloid joint
4) Saddle ;:s_)hnt
(o))

= ;
144. Which typegof research relies on
experience or observation alone ?

1) Aﬁalytical research
\ 2) Empirical research
3) Applied research

4) Conceptual research
145. What is thedvequency of shortwave
Diathermy 'lwo
v]) 27.42 MtI)Iz
2) 27.32 MHz
3) 27.22 MHz
4) 27.12 MHz

146. Dinesh Jawahar Lad is awarded a
National Sports Award in 2022,
which National Award it is ?

«1) Dronac%rya (Regular)
O
2) Dronac@‘:\rya (Life time)
O
3) DhyandHand Award (Life time)

"4) Arjun Award
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1) d=E Tga
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o
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O
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1) o o ST
2). fo o ReiT
3) T TE

4) ATHT P

[Level-3/1313]

147. A muscle’s ability to exert a forgg

148.

149.

without changing length :
1) Concentric contraction
2) Eccentric contraction
t3) Isometric strength
4) Dynamic strength
Educational Research is carried out
to find new methods of teaching and
learning process, it is an example of
which type of research ?

1) Action Research
2) Applied Research

\3) Pure Research

4) Descriptive Research

"If the occurrence of an operant is
followed by presentation of a
reinforcing stimulus, the strength is

increased." Who wrote this
statement ?
1) E.L. Thorndike
2) B.F.Skinner %
§3) Ivan Paviov |
4) Wolfgang Kohler-
P.T.0
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